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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

-

furd

N

6.

Answers are to be bubbled only on the separate carbonless answer-sheet provided to you.
After examination detach the carbonless copy from original OMR & keep carbonless copy
with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one block) on
question paper. Before writing your seat no. ascertained it with Hall ticket. Please see that no
block is left blank or unfilled.

Example -
CENTRE CODE 5 1 " )
SEATNO. M3 3lol2a]o]af1t]ofl2a]1]2]3

Please ensure that vou have received Mental Ability Test answer sheel.
Total number of questions are 90 for this paper. All questions carry one mark cach.

All questions are compulsory.,

IFor cach questions there are four options given in question paper, Cheek for the correct an-
swer and bubble correct option from four circles piven in answer sheet by Black/Blue pen.

Please do not write any answers on question papers.
Start answering [rom first question one afier the other till last question,

If you do not know the answer to any question. do not spend much time on it and pass on (o
the next one. Time permitting you can come back to the questions which you have left in the

first instance and try them agam.

Utilize the allotted time tor solving the questions in best possible way. The rough work is to

be done in the box given under cach page.

1 0. Do not write anvthing except Center Code. Seat No. and rough work anywhere in this hook -

let
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Q. 1 to 4 Directions :
and second term. The same relationship
on mark. Select the correct alternative

will replace the questi

AMK : [IFQ
(1> RRV

SP] : HKQ
(1) PNK

PINK : RLRP
(1) DNWG
NMMS : 11Q
(1) CPPC

- In the following questions there i

JKP : ?

(2) QRT (3) RDV

MTS : ?

(2) NGH (3) NJT
BLUE : ?

(2) DNY]J (3) DOXK
HTSE : ?

(2) DPQC (3) CCPP

s a specific relation between first

exists between third and fourth term which
from the given alternatives.

(4) RSX.

(4) KRH.

(4) DOYIJ

(4) MXVG

Q. 5 to 7 Directions : In each of the following questions the question figure changes in a
definite way. Find out the correct figure. ~

5.

Question Figure

NI

3

Answer Figure

AR

g

(1) 2)

(3)
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g.1000 4 Xauid : SnodE FBAVY Seduded ST oo IEdecon dRd dtdck Howoy wKodnt, ot Drdoh

rowoy Shadded mHzmb, Ty TonYd =d. o towed Zrehi 1_*‘4* w0l gvag odetr, Todmeody wdaho.

- AMK : IFQ :: JKP:?

1) RRV 2) QRT 3) RDV 4) RSX
2-SP] HKQ :: MTS:?

1) PNK 2) NGH DNIT 4) KRH.
3-PINK : RLRP :: BLUE : ?

1) DNWG 2) DNY] 3) DOXK 4) DOY]
4- NMMS . IQ : HTSE:?

1) CPPC 2) DPQC 3) CCPP 4) MXVG

Y oL x 9
Y . '

)
N 2 /'
(1) (2) (3) (4)

SPACE ROUGH WO

L
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Question Figure

o] [of|AJ[:]

Answer Figure

i =
°||@ o [E
Mm@ ® @
Question Figure
a A px o
) - " ?
143 Gl
Answer Figure
oA
W
Q¥ W + Q4 Q
(1) (2) (3) (4)

Q. 8 to 10 Directions :- In the following questions a specific group of numbers is given
from the given alternatives find out the right number which matches the given group.

8. 132, 473, 594
(1y 147 (2) 342 (3) 253 (4) 584
9. 721, 636, 749
(1) 311 (2) 836 (3) 547 (4) 668
10. 32-80, 26-65, 42-105
(1) 14-33 (2) 18-45 (3) 10-35 (4) 16-42
SPACE FOR ROUGH WORK
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K. 132,473, 594

(1) 147 (2) 342
9. 721,636, 749

(1)311 (2) 836
10.32-80, 26-65, 42-105

(1) 14-33 (2) 18-45

o
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(3253 (4) 584
(3) 547 (1) 668
(3) 10-35 (4) 16-42
SPACE FOR ROUGH WORK
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Q. 11 to 13 Directions :

F 1A o

Q. 14 to 17 Directions :

14.
15.
16.

17.

N

Find the odd figure,

SulElS T

mark.

AZ, CX, FU?
(1) IR (2) KP

CT, HP, ML, PH,?
(1) DW (2) TD

MNO, KPQ, IRS, GTU,?
(1) EVU (2) EVW

AYC, DVF, GSI,?
(1) JPL (2) KOM

(3) JQ

(3) VE

(3) FUT

(3) QKO

Write which letter in the given sequence replaces the guestion

(4) RS

(4) WD

(4) DWX

(4) LPJ

H W
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I, 8o. 11 0om 13 e : nxons w8 rhobaro,

(1) (2)

12.

(1) (2) (3) (4)
13.

(1) (2) (3) (4)

Z. go. 14 oog 17 Xaud: gmhmmn oims eEne: whEd?
4. AZ CX, FU 7

(1) IR (2) KP (3)1Q (4) RS

15. CT, HP, ML, PH, 7?7

(1) DW (2) TD (3) VE (4) WD
16.  MNO, KPQ, IRS, GTU, ?
(1) EVU (2)EVW (3)FUT (4) DWX
17.  AYC, DVF, GSL, ?
(1) JPL (2) KOM (3) QKO (4) LPJ
SPACE FOR ROUGH WORK
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Q. 18 and 19 Directions :- The following [igure is folded to form a cube. Observe the
figure and answer the following questions.

18.

19.

B|A|

C
D
|F|E

Which letter will be in front of letter A.

(1) D

(2)C (3) E

Which of the following letter will not be adjacent to E ?

(1) A

(2) B 3) C

(4) F

(4) D

Q. 20 to 23 Directions : Write which number in the given sequence replaces the question

mark.

20. 32, 38, 42, 44,7
(1) 48 (2) 46 3) 50 4) 52
21. 6, 7, 16, 51,7
(1) 153 (2) 204 (3) 208 (4) 156
22. 2, 6, 14, 30,7
(1) 46 (2) 62 (3) 44 (4) 64
23. 31, 35, 43, 50,7
(1) 58 (2) 57 (3) 55 4) 60
10 NMMS-MAT19 [ VIIL | M7 ]




g 80.18 T3y, 19 Bawss: surl dary, £4,38 o8 TR wodh T, Do FumoIHED. TY Sedod BN

g riert woZor.

B|A
C
D
F|E
18. A weod Swodd iRz wgy uohzdad?
(D (2)C (3)E (4 F
19. E &1 g 0d ddohd oind wig udhgneg?
(A (2)B (3)C (4D

T, 0. 20 oo 23 xeud : gaaen IE dEed VDO oind donroh wod d?
20. 32, 38, 42, 44,7

(1}48 (2) 46 (3) 50 (4) 52

21. 6, 7, 16, 51,7

(1) 153 (2) 204 (3) 208 {(4) 156

[
[
[

o

B
fad

~t

(1) 46 (2) 62 (3) 44 (4) 64

23. 31, 35, 43, 5,7

(1) 58 (2) 57 (3)35 (4) 60
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Q. 24 and 25 Directions :- Observe the following figure and answer the following questions
by choosing the correct alterantive given below.

24. Find the number of squares in the figure.
(1) 16 (2) 14 (3) 12 4) 10
25. Find the number of rectangles which are not squares.
(1) 10 (2) 12 (3) 14 (4) 16
Q. 26 to 28 Directions :- In the following Venn diagram, square represents painter, circle

represents singer, triangle respresents the artists those who play instruments and
rectangle represents gents artists. Answer the following questions.

C A I

\D/ G | F
N

26. Which letter represents only gents artists who are good in painting, singing and playing
instruments ?

(1) B (2)H 3) G 4 I
SPACE FOR ROUGH WORK
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. 80. 24 00T 25 xaud 1 woR ok, g aan ROt TSRO 4V dok) TBAN woI OV, TelReohdd oT BOAS

. 24 ©6,30hQ, WO Kool amy?

(1) 16 (2) 14 (3) 12 (4) 10
Z. 25 Wiox My d vahIny zodd, o ?
(1) 10 (2) 12 (3) 14 (4)16
T . 80. 26 dom 28 Ko : duns ©8,3chd FUE smh ¥Imdd Adirgd 8. SREY, <ok MmobEc nlmTE <2
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=, 26 ued, moobs h, o, ToOE Shech FUnT S0I(LoiAtiE)moETRy R ¢ ghod 3eroxoeng?
(HB (2)H (3)G {4y
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27. Which letter represents only gents artists who are good in painting and singing but not

good in playing instruments ?
(D1 (2) G (3) B (4) D

28. Which letter indicates only gents artists who are good only in painting 7
(n 1 (2) 1 (3) B (4) H

Q. 29 and 30 Directions :- Which of the following figures represents the following elements

29. Students, Women, Players

(1) m@ O @ @ ) @

30. Gents, lawyer, reader

@ Qe o@) «

Q. 31 and 32 Directions :- Three different positions of a cube are shown in the figure.

Observe the figure and answer the following questions.

5 B 2

4 6 6

(i) (ii) (iii)

31. In the fig. (ii) which number is there at the base face of the cube ?

(1) 1 (2) 2 (3) 5 ¢ 6

W

SN

M
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32. Which number will not be there on the surface adjacent to the surface having number
57

(1) 2 (2) 4 (3) 3 (4) 6

Q. 33 to 36 Directions :- In a code language the word 'SMART"' is written in four different
languages. Observe the code language given below and select the correct answer.

SMART

(1) SNCUX (2) HNZIG (3) USBNT (4) SATMR
33. HANDSOME = HNSMADOE

34. BEAUTI = BFCXXM
35. LIKE =ORPV
36. CHARM =NSZID

Q. 37 and 38 Directions :- Find the odd term out.

37. 10, 14, 28, 32, 64, 68, 132
(1) 14 (2) 132 (3) 68 4) 32
38. 3, 7, 15, 39, 63, 127, 255, 511

(1) 39 (2) 63 (3) 255 (4) 511

Q. 39 and 40 Directions :- Arrangement of letters is given in a proper manner. Choose the
correct alternative from the series of letters.

39. ps__ __tpt__s

(1) stp (2) pst (3) tsp (4) spt

16 NMMS-MAT-19 | VIII
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1

32 5 wod ndocd S end ddend Bachdrem RT vod RGP0 ?

i

(12 (2) 4 (3)3

T, 80.33 0om 36 Xeui: Lo moded¥ ok SMART & 2y muy, g2

W vudacd Swodd JYNVO ob g, faty mwy, odn 28 cind maing rdahemnnd aossE 2atnAl.

s
SMART

mafids

(1) SNCUX (2) HNZIG (3) USBNT (4) SATMR

33. HANDSOME= HNSMADOE
34. BEAUTI= BFCXXM
35. LIKE = ORPV

36. CHARM= NSZID
Z. 80.37 o3, 38 Zaudd: SucdI Tomm, SRddahd b =D I Japao.

37. 10, 14, 28, 32, 64, 68, 132

(1) 14 (2) 132 (3) 68 (4) 32
38. 3, 7, 15, 39, 63, 127, 255 S5l

(1) 39 (2) 63 (3) 255 (4) 511
Z.30. 39 oz, 40 Beud: wEgny sohug Sosdch Sheder th, AVUY oI LFING STuED steTsy day

Zolneohti o wdoko.

39.ps___ tpt__s

(1) stp (2) pst (3) tsp (4) spt

SPACE F IGHW

NMMS-MAT-19 | VIIT | M7
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40. ghg  hgh  __h h g

(1) hghgh (2) ggegh (3) hgggh (4) hgghg

Q. 41 to 43 Directions :- In cach of the following questions find out the term which
matches the given group.

41. BD, DP, (I
(1 AA (2) EX (3) HT (4) KZ

42. DWV, LON, HSR

(1) BCX (2) GTS (3) JKP (4) MLN

43. NSW, GLP, XCG

(1) LRV (2) DIN (3) TYC (4) BFK

44. In a code language NARGRUED = GRANDEUR, then in the same code language
SERPEVRE =?
(1) PRESEVER (2) PERSERVE (3) PRESEVRE (4) PRESERVE

45. In a code language RED = 6720, then in the same language BLUE =

(1) 212215 (2) 144723 (3) 723144 (4) 414237

46. In a code language SNEH = 62, then in the same code language PREM = °

(1) 56 (2) 55 (3) 54 (#) 52

47. In a code language E = 5, HOTEL = 12 then in the same language LAMB -

(1) 13 (2) 11 (3) 9 7

SPACE FOR ROUGH WORK

S |

18 NMMS-MAT-19 [ Vil [M7 ]
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40. ghg _hgh _ _h__h__g

(1) hghgh (2) ggegh (3) hggeh (4) hgghg

. go. 41 0od 43 eud: decdH ZAMVE wESY wooh DbY rhome gadimend. dau Doinrohmd oT Lol

ek

Joinrod woiR rocart RoXroh3 . ¢ clan Jednrod wded.
41. BD, DP, Cl
(1) AA (2) EX (3) HT (4)KZ
42.DWY, LON, HSR
(1) BCX (2) GTS (3) JKP (4) MLN

43.NSW, GLP XCG

(1) LRV (2) DIN (3) TYC (4) BFK

44. Loch o838 e:d NARGRUED @ ziy GRANDEVR kbt wishnz 2. memdd st modids tRmahd

SERPEVRE & 51 ®erf wdedone?

(1) PRESEVER {2) PERSERVE (3) PRESEVRE (4) PRESERVE

45. noch mededd waohd RED & 2 6720 et wdeinmm d. mmdd vt medids mashy, BLUE = zu 2

t:dodnd e0?
(1)212215 (2) 144723 (3) 723144 (4)414237

46. Lo moBedt yrdond SNEH &1 g 62 kel wdaind 22, vdlt modeds wnaleng PREM & zu 2t
wdednfn?

(1) 56 (2) 35 (3) 54 (4)52
47, o mofeas s B=5, HOTEL=12 ~g2, u2: mededs mmalond LAMB & z @& wdotean?
(1) 13 (2) 11 (3)9 (4)7
I W

NMMS-MAT-19 | VIII | M7
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Q. 48 and 49 Directions :- A Square transparent sheet with some pattern is given below as

a problem figure. The sheet is folded on the dotted lines. How would the pattern look
Answer Figure

8 e

1) (2) (3) (4)
W N[ E
(1) (

48. Question Figure

UL

-/

J

49. Question Figure

JIIN

2) 3) 4)

Q. 50 to 52 Directions :- Observe the
follow.

pyramid of numbers and answer the questions that

1
2 3
6 5 4
7 8 9 10
15 14 13 12 11
16 17 18 19 20 21
28 27 26 25 24 23 22
29 30 31 32 33 34 35 136
45 44 43 42 41 40 39 38 137

50. 28294430, 26314232, 24334034, ?

(1) 22353836 (2) 22363835 (3) 23353934 (4) 25334034

51. 68594, 81391210, 1319122011, ?

(1) 1726182519  (2) 4232334140 (3) 2625333132 (4) 234986

SPACE FOR ROUGH WORK

20
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=, 80.48 Doz, 49 Raud: doy, oL WomY,3 s, H08 @Eon wEd Sed erbd b2 Eat,
TReohsd o ZRHA0.

48.
YRR
(1) (2) (3) (4)
49, ~ S
SRR AR AR
(1) (2) (3) (4)

Z. 80. 50 ood 52 Rau: 82y Rowm, Artbod Hedow v 8ok, BEAeR odam Dot twI dTE, SOLO.

5 =

l
2 3
6 5 4
78 9 10
15 14 13 12 11
16 17 18 19 20 2]
28 27 26 25 24 23 22
29 30 31 32 33 34 35 36
45 44 43 42 41 40 39 38 37

50. 28294430, 26314232, 24334034, ?

(1) 22353836 (2) 22363835 (3) 23353934 (4) 25334034

51. 68594, 81391210, 1319122011, ?

(1) 1726182519 (2) 4232334140 (3) 2625333132 (4) 234986

L
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52. 1517263231 1120243334 4430271718 : ?
(1) 414243333132 (2) 1219242011
(3) 3835232019 (4) 1413192526
53. In the following questions onc question figure is given to the left. H_Dw il the
reflection of the given figure in water look ? Select the correct alternative
Question Figure Answer Figure
&l DY
S
(D (2) (3) (4)
54. Choose the correct mirror image for the question figure from the given alternatives.
Question Figure Answer Figure
Fig N ~
T AN
(1) (2) (3) (4)
Q. 55 to 58 Directions :- Find the odd term.
55. 243, 576, 936, 213
(1) 243 (2) 576 (3) 936 (4 213
56. 925, 216, 576, 704
(1) 924 (2) 216 (3) 576 $ 704
57. 27-57,  63-18, 28-81, 36-96
(1) 27-57 (2) 63-18 (3) 28-81 (4) 36-96
_— I
22 ———
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521517263231 @ 1120243334 = 4430271718 - 2

(1) 414243333132 (2) 1219242011

(3) 3835232019 (4) 1413192526

33,29 LEIY) =8,

& DA E] 6 e

(1 (2) (3) (4)

- 2] [\~
' (1) (2) (3) (4)
T. 8o. 55 todd 58 neuR: Hxonz =2 ohiun,

35. 243, 576, 936, 213

(1)243 (2) 576 (3)936

930 AT RO o F3wow Fert R s oowdd i T wY MY Tinronol 2T 204

(4) 213
6. 925, 216, 576, 704

(1)924 (2) 216 (3)576 (4) 704
57.27-57,  63-18, 2881,  36-96

(1)27-57 (2) 63-18 (3) 28-81 (4) 36-96

e
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58. 1365, 5713, 9876, 4321
(1) 1365 (2) 5713 (3) 9876 (4) 4321

Q. 59 and 60 Directions :- Amita, Amar, Ganesh and Utika are having appliances. Except
Ganesh all are using AC. Amita and Utika are having refrigerator. Amar is having all
the appliances except oven. Amar as well as Utika have mobile. Utika as well as
Ganesh have oven and mobile. Then answer the following questions.

59. Who is having all the four appliances ?
(1) Amita (2) Utika (3) Amar (4) Ganesh
60. Who is not having mobile ?

(1) Ganesh (2) Utika (3) Amita (4) Amar

Q. 61 and 62 Directions :- A meaningful word is formed from the letters S, O, C, M, T, U.
Then answer the following questions ;

61. Write the number in the alphabetical order of the letter which is third from the left in
the meaningful word.

(1) 21 (2) 20 (3) 19 (4) 15

62. Write the number in the alphabetical order of the letter which is last in the meaningful
word.
(1) 20 (2) 19 (3) 3 4) 13

63. In the following question the given figure is incomplete. Select the correct alternative
which can complete the figure.

Question Figure Answer Figure
7 o7
Xe @ D) ¢ ) D) ¢ 5) ¢
(<30 ) g

(1) (2) (3) (4)

——
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58.

(L

(M

o

11

el

il

[R5

1365, 5713, 9876, 4321

(1) 1365 (2) 5713 (3) 9876 (4) 4321

. 80. 59 2, 60 R i3, v, rider, ondm AT WO SnobAcd vLZECHEAYs . MME By, 08 ol

wHlemzd, ot ), awdm d ¢l yof o, whod fdh LaT Zrozh FIC LY LITECRTNE
<. et e ondnd 83 Saud,of od. cdnde ¥, Az 20 BdA LIT 202, 2ail, o <O, TmmEC
SodF ZFnen w3g wdokho.

. 39 cind 23,8 mus, woIEtony: n?

(1) wooe3 (2) ciwdm (3) wzo (4) rictez

. 60 2rd,oF oind T3T @y ?

(1) rees (2) ctnzm (3) waaed (4) wmic

. 8o. 61 =3, 62 Beud : SO CMTU & wggved nomh vgezans B, Famoertd 2, memed =echn ZZren

g 0B,

. 61 & o) adrdanes etk YED RN T IRFERIHE, aF ok EIoEE hed wehd S?

(1) 21 (2) 20 (3)19 (4) 15

62 = LI ool Saded ¥ED o= grersSedohd afdob gIwesd g wdh yg,o3?

(1)20 @19 (3)3 (4) 13

. 63 wdarns ©g,3 Sene o Fwmn et Tunsab EOLO.

TEH3e - w3 g

Db »p

(1 (2) (3) (4)

R R WOR

L
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Q. 64 to 67 Directions :- In the following questions there is a specific relation between
first and second term. The same relationship exists between thrid and fourth term
which will replace the question mark. Select the correct alternative from the given

67.

Q. 68 to 71 Directions : Find the odd term.
68.

69.
70.

71.

alternatives.

3V o 22 = 42 ?
(1) 24 (2) 12
72 4 7 26
(1) 36 (2) 22
234 : 81 = 514 7
(n 91 (2) 81
31 52 72 7
(1y 117 (2) 142

(1) KD

(1) TC

(1) PLUS

(1) RMS5

(2) RL

(2) OD

(2) ONE

(2) ND8

(3)

(3) :

(3)

(3)

(3)

(3)

(3)

(3)

09

144

MT

FI

NAME

VF19

(4) 20

(4) 72

(4) 100

(4) 108

i4) OH

(4) PE

(4) UNO

(4) VHI4

Q. 72 to 75 Directions :- In the following questions each letter is coded with the digits

from 0 10 9. If YE x ME = ITT..

Choose the correct alternative for the following questions.

72. Find the value of E.

() 2

4) 9

NMMS MAT 19 VIl [




g 8o. 64 oom 67 xautd: TwodR WYY daduded JoC aoEdeh IEteco RS Dtich Kowod AWedat LT
otdob Towey ThavHadh 3y, myeh JSNYY . ¢ Kowoy Zepr FF WEeh XYY, ey Holmeoh
ELILN

64, 37 22 = 42 7

(1) 24 (2) 12 (3) 09 (4) 20
65.72 : 44 = 2 :26

(1) 36 (2) 22 (3) 37 (4) 72
66. 234 : 81 = 514 : 7

(N9l (2) 81 (3) 121 (4) 100
67. 31 52 =2 72 7

(1) 117 (2) 142 (3) 144 (4) 108

Z. go. 68 oo 71 netdd: oxoris ST Zapr

68. (1)KD (2) RL (3) MT (4) OH
69. (1) TC (2) OD (3) FI (4) PE
70. (1) PLUS (2) ONE (3) NAME (4) UNO
71. (1) RMS (2) NDS8 (3) VF19 (4) VH14

Z. 8o. 72 oo 75 Zaud: dvng SZnvS, Jacdacm: wED 0229 g wedne Aeded moZ 2. YEXME=TTT
Ll =gT Swobd TFnemn ozer, dolmeolk £030.

=. 72. E © @< am =ouzm?

(12 (2)3 (37 (4)9

R Wi
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73.

74.

75.

Find the value of Y.

(H 0 (2) 2 3) 5 4) 6

Find the value of T.

(1) 6 (2) 7 (3) 8 (4) 9

Find the value of E+ M+ T+ Y

(1) 20 (2) 21 (3) 35 (4) 49

Q. 76 and 77 Directions :- In the following examples one number in each row is in bracket.

76.

77.

Numbers outside the bracket have some specific relation with the number inside the

bracket. Find the relation and replace the question mark from the alternatives given
below :

23(108)29

17(63)19

31(7)37

(1) 68 (2) 63 (3) 57 (4) 40
63(78)24

33(47)41

13(7)65

(1) 87 (2) 78 (3) 69 (4) 43

Q. 78 and 79 Directions :- Raju starts moving towards North-East and walks 7 km. Then

he turns to South-West and walks 8 km. Now he turns to North-West and walks 3 km.

After taking right turn at this point he walks 1 km and stops. Then answer the following
questions.

78. To which direction he is from the origin ?
(1) North-East (2) South-West (3) South-East (4) North-West
— ]
E HW

28
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3. 73 Y dd oy <cuxhoy?
(Do (2)2 ()5 (4) 6
3. 74 T o @< asy ~duzhoh?
(6 (2)7 (3)8 4)9
3. 75 E*M+T+Y o 09 am) ~cuaboh?
(1)20 (2)21 (3) 35 (4) 49
. go. 76 o3, 77 Beud: dunT YARYQ, Eoxa BaohT zodnd soxzg Rodalacnrt wthE DAY, Towew OF, 590,

Inchdomh Z_J;l‘f,l U odn VoD cird modd, wdiE S SotndEy ToinEohTd o oD

76. 23(108)29
17(63)19
31(7)37
(1) 68 (2) 63 (3) 57 (4) 40

77. 63(78)24
33(47)41
13(7)65
(1) 87 (2) 78 (3) 69 (4) 43

T. Bo: 78 by, 79 Xau: oo sizmed, OFn 3 Tidaens 2atT 7o Bade 3,003, Odoh sdr! aotn

i =8
sl prniint Eaedh. e od motnd, 02 Seth sttt 2rrddodd woner BaU¢ woh sdotnitiot
Deth Jo3h. =omad f9nT e wIFoan.

I, 78. Do :%ﬁﬂod oz R o2 =mA?

(1) sszo3, (2) 3,003, (3) ezen (4) ez,

SPACE FOR ROUGH WORK

L
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19,

80.

81.

How far he is from the origin ?

(1) 0km (2) 1 km (3) 3km (4) 7 km

Independence day in the year 2017 was on Tuesday. On which day was Teacher's
Day ?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

Study the mathematical operations in the following arrangement of numbers and select
the correct alterantive that will replace the question mark

d-Y? 6\|/9 !.Y?

53 87 ?
(1) 49 (2) 50 (3) 48 (4) 55
i i i
2 =@ ()= 0 (2)—s
l I I
3 3 9
(1) 235 (2) 141 (3) 144 (4) 188
14 9 12 Bl 11 20
83. 56 ?
27 6 3 N5 1 4
(1) 58 (2) 60 (3) 70 (4) 45
A J WORK
30
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.79 SevmItod UTR L woIdy Hhed nmA?

T4

(1) 0 8o0e (2) 1 sz (3) 3 szee (4) 7 azse

(REN

. 80 20173 'mo3 OF shonvimd w%, mmd 'BYE OF cdwd S0 WX ?

(1) gommo (2) Rrezvmg (3) hertvmmd @) ey,

B

. 8o. Bl 00w 83 xatsd: w000 YFAVE. Fady 2 mheadend ob ArdS b wimX SR2
odatr, Tedmeod ©DAD.

4YT 6\(9 iY?
53 87 ?
(1) 49 (2) 50 (3) 48 (4) 55
82.
G 1 15
| | |
2——4 a—@—z 20— —3
| | |
3 3 9
(1) 235 (2) 141 (3) 144 (4) 188
83,
14 9 12 1 1 20
Py
56 56 7
2 N6 3 5 1 4
(1) 58 (2) 60 (3)70 {4) 45
SPA R ROU W

—
e
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Q. 84 to 86 Directions : In the following questions there is a specific relation between first

and second figure. The same relationship exists between the third and the fourth

figure which will replace the question mark. Select the correct figure from the
alternatives given below each question.

SR
= =) L
85. 'ﬁ 2::@@]: ?
Po| |G o4 |1 A
86. @-;@;;@,; ?
7| |5 | 40| |

NMMS-MAT 19 [ VT [\




3. go. 84 0oz 86 Xauds: SUnT IZnvo Sadudan o, adddoh uh,erve. Ly, Aeuey S, WSt 013

o —
-t I-l:h.-.p-,!

Swwdded Iy, FOFon wd VG <. © Kotog 2atOA 33 uLoh ’3_.“‘5@« Lo cdatr, ToIRToh 400,

S R
P = =] L

'ﬁ. % 2 ::(3@2 7
Bo| < ekl | A

I %ﬁ : @ . @ ?
EAEIEhE
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Q. 87 to 89 Directions :- The opposite faces of a cube block are painted in the same colour.

87.

88.

89.

The block is cut by 4 X 4 X 4 ¢m dimensions in small blocks. Answer the following
questions.

Blue

~—_ Green
Yellow

|
B
[“"v-,
|

VA

T

How many cubes have at least two faces painted in the same colour ?

(1) 24 (2) 8 (3) 6 @ 0

How many cubes have surfaces painted in three colours ?

(1) 24 (2) 8 (3) 6 4) 0

How many cubes have surfaces painted in yellow but not in green ?

(1) 8 (2) 12 (3) 16 (4) 24

90. The folded figure of a square paper is shown in the question figure. If it is unfolded
what will it look like ? Select the correct alternative given.
Question Figure Answer Figure
U 7\ //\'\
(1) (2) (3) (4)
SPACE FOR ROUGH WORK

NMMS-MAT-19 | VIII

M7




LY A= n e
L X! * - - " -
z. go. 87 00m 89 xaud: won day wfdang Fmed Wens Lms-nmLT ZEAVE, LoDt TROD SO LIS
P i ek vl T — A 2 u — ~
faSEhd wTe30 vag 4 dxd L 7 e E Zo@T, €204 0 Ingmh, w0k L Kt ol EVRA
L 9 . ;
D2 v onds wdalu,

AR

1

o e - . - i "
. 87 oz Imon wey, doodond 2 I wenns il w33 FAN® L7
Y A

{(1y24 (2) 8 (3)6 (Ho

= 88 =ao wemesz Lo am FEne: dadodiz 2
- ; % :,
(124 (2)8 (3)6 ho
- 80 zZvo wo ST eod weda AT I YR o= FEAW mouma?
- e o = -

(1y8 (2) 12 (3) 16 (4124

. go. 90 @3, 91 Reud: ok WOWE,d mADE, SRS RIWN RrNd U3 =Hd od, 3ok SRImhI 8 =Sz

- o = - = " - .
—.n2 Irfchsh 2o a2 eI S SowndRs WS T ©E 37T dRrpAD.

(1 (2) (3) (4)
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